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PART-A

Directions (For the 10 items which follow) :
Each of the following items consists of a sentence followed by four words or groups of words. Select the
synonym of the word (occurring in the sentence in capital letters) as per the context.

One must live life with DIGNITY.

(a) Nobility (b) Eminence (c) Honour (d) Rank

(c)

Europe, America and Japan have taken to the field of science with SINGULARvigour and activity.
(a) Peculiar (b) Outstanding (c) Familier (d) single

(a)

Our age is preeminently an AGE of science.

(a) Era (b) Date (c) Generation (d) Moment

(a)

Ant is believed to be the most INDUSTRIOUS creature.

(a) Sensible (b) Sucessful (c) Diligent (d) Punctual

(c)

The schools insist on giving WHOLESOME food to the children for the proper growth of their mind and
body.

(a) Whole crops (b) Nourishing (c) Fit (d) Sound

(b)

As | look around | see the crumbling ruins of a proud civilization strewn like a vast heap of FUTILITY.
(a) lIrrelevance (b) Absurdity (c) Pointlessness (d) Downtrodden

(c)

Mark Antony’s EULOGYof Caesar is finely recorded by Shakespeare in his play.

(a) Prayer (b) Honour (c) Praise (d) Denunciation

(c)

By 1918, Gandhiji had established himself as a leader with UNIQUE way of protesting exploitation and
injustice.

(a) Different (b) Exceptional (c) Excellent (d) Good

(b)

Your INTERVENTIONwas required.

(a) Interference (b) Interruption (c) Disturbance (d) Connection

(a)

It is difficult to DISCERNthe sample on the slide without adjusting the microscope.

(a) Discard (b) Arrange (c) Determine (d) Debate

(c)

Directions for the Close comprehension Passage (For the 20 items which follow) :
Supply suitable word in the blank of each item which is followed by four words or groups of words.

In a few seconds we ran the boat into a little bay, where we made her fast to a piece of coral, and running
up the beach, entered the ranks of the penguins armed with our sticks and spears. We were greatly
surprised to 11.

(a) find (b) learn (c) hear (d) understand
(a)
that instead of attacking us or 12
(a) showing (b) giving (c) revealing (d) conveying
(a)
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sings of fear at our 13

(a) arrival (b) entry
Ans. (a)

these strange birds do not have 14

@ in (b) at
Ans. (c)

their places until we took hold 15

(a) off (b) of
Ans. (b)

them, merely 16

(a) opened (b) turned
Ans. (b)

their eyes on us 17

(a) with (b) out of
Ans. (b)

wonder as we passed. There 18

(a) lived (b) existed
Ans. (c)

one old penguin, however that 19

(a) commenced (b) began
Ans. (b)

to walk slowly towards the sea, and Peterkin 20

(a) carried (b) bore
Ans. (d)

it into his head that he 21

(a) would (b) could
Ans. (b)

try to stop it, so he 22

(a) interposed (b) ran
Ans. (d)

between it and the sea and 23

(a) moved (b) pointed
Ans. (b)

his stick in its face. But this 24
(a) appeared (b) happened

Ans. (c)

to be a determined old 25

(a) bird (b) animal
Ans. (c)

It would not go back ; in fact, it 26

(a) should (b) would
Ans. (b)

not cease to advance, but 27

(a) battled (b) struggled
Ans. (b)

(c) approach

(c) from

(c) from

(c) closed

(©)in

(c) was

(c) continued

(c) took

(c) should

(c) arrived

(c) waved

(c) proved

(c) creature

(c) could

(c) contested

(d) alight

(d)on

(d)on

(d) showed

(d)on

(d) persisted

(d) stalked

(d) thought

(d) won't

(d) jumped

(d) watched

(d) seemed

(d) pet

(d) must

(d) snugged
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Ans.

Ans.

Ans.

3.

Ans.

32,

Ans.

33.

Ans.

34.

Ans.

35.

Ans.

36.

Ans.

37.

Ans.

with Peterkin bravely, and 28
(a) chased (b) drove (c) moved (d) lashed

(c)

him before it until it 29
(a) touched (b) arrived at (c) reached (d) jumped

(c)

the sea. Had Peterkin used his 30
(a) baton (b) stick (c) spear (d) club
he would have easily killed it.

(c)
Directions (For the 10 items which follow) :

(i) In this section, a number of sentences are given. The sentences are underlined in three separate parts
and each one is labelled (a), (b) and (c). Read each sentence to find out whether there is an error in any
underlined part.

No sentence has more than one error. When you find an error in any one of hte underlined parts (a), (b) or
(c), indicate your response on the Answer Sheet at the appropriate space. You may feel that there is no
error in a sentence. In That case (d) will signify a ‘No error’ response .

(ii) Errors may be in grammar, word usage or idioms. There may be a word missing or there may be a word
which should be removed.

(iii) You are not required to correct the error. You are required only to indicate your response on the Answer
Sheet.

If you will work hard  you will always succeed No error

C)) (b) © (d

(a)

She has been teaching dancing atthe victory since five days No error

(@) (b) (©) (d)

(c)

Many a boy were happy dancing atthe victory of our cricket team in Australia No error

(@) (b) (c) (d)

(a)

Imagine living  with someone who never stops talk. No error

(a) (b) (c) (d)

(c)

| was shocked  when he told me that the old woman died bycancer. No error

(a) (b) (© (©)

(c)

To the men who worked so hard in the project, the news was profound disappointing No error

(@ (b) () (d

(c)

Even though she lost the beauty contest, she was still more prettier than the other girls. No error

(@) (b) () (d)

(b)
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38.

Ans.

39.

Ans.

40.

Ans.

41.

Ans.

42.

Ans.

43.

Ans.

44.

Ans.

45.

Ans.

46.

Ans.

47.

Ans.

48.

Ans.

49.

Ans.

50.

Ans.

The novel is interesting, informative and itis easy to read No error

(@) (b) (©) (d)

(c)

The differential attractions of the sun and the moon have a direct effect in the rising and falling

(@ (b)

of the tides. No error

(©) (d

(b)

Despite of the pills which are available, many people still have trouble sleeping No error

@ (b) (©) (d)

(c)

Directions (For the 10 items which follow) :
Each of the following items’ consists of a sentence followed by four words. Select the antonym of the word
(occurring in the sentence in capital letters) as per the context.

Her illness ENERVATED the whole family.
(a) Enhanced (b) Exhausted (c) Weakened (d) Energized

(d)

The teacher INSERTED another picture to illustrate the point.
(a) Deducted (b) Added (c) Removed (d) Reclined

(c)

The committee rejected his LUDICROUS proposal.
(a) Absurd (b) Reasonable (c) Farcical (d) Stupid

(b)

Children ADORE the cricket players.
(a) Discuss (b) Condemn (c) Benefit (d) Check

(b)

These people are sunk in abysmal ignorance and their illiteracy is simply COLOSSAL.
(a) Intolerable (b) Huge (c) Small (d) Silly
(c)

Previously per capita income used to INCREASE by seven rupees per year.
(a) Dwindle (b) Diminish (c) Mitigate (d) Profit
(b)

In the modern times, we find that most social relationships are rather ARTIFICIAL.
(a) Decent (b) Genuine (c) Excellent (d) Adorable

(b)

Social LIBERTYmay be instrumental in the emotional growth of a person.
(a) Constraint (b) Slavery (c) Compulsion (d) Obligation
(b)

Education is most ESSENTIAL for the all-round development of a person.
(a) Unimportant (b) Disdainful (c) Customary (d) Redundant

(a)

He was extremely MODEST in company.
(a) Curious (b) Virtuous (c) Unassuming (d) Immodest

(d)
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PART-B

51. The pH of fresh milk is 6. When it turns sour, the pH

(a) becomes <6 (b) remains the sameii.e., 6
(c) becomes > 6 (d) becomes neutral, i.e., 7]
qrl g9 &1 pH 6 2| 519 I8 Wcel & ol 2 df pH
(@) <6 & I 8 (b) I <& 2, 37Aid 6
() >6 2 Wl 8 (d) SR 8 ST 2 37iq 7
Ans. (a)
52. The displacement of a particle is given by x = cos? ot. The motion is
(a) simple harmonic (b) periodic but not simple harmonic
(c) non- periodic (d) None of the above
et w1 &1 fAveImIT x = cos? ot §RT faar @y 2| Ifd ®r 2 ?
(@) TR 3Madt (b) sTrardt farwg TR amrad L
(C) 3Tacit d) S ¥ ¥ Py T8
Ans. (a)
Sol. x=cos?wt
_ 1+co0s2o0t
=—

X l-lcos2t
2 2%

this is equation of S.H.M.

53. A motor vechicle is moving on a circle with a uniform speed. The net acceleration of the vehicle is
(a) zero
(b) towards the centre of circle
(c) away from the centre along the radius of the circle
(d) perpendicular to the radius and along the velocity
DIg HIcR AqE UHHAM a1 A (Bl g9 R AN 8 | a8 &1 A @Rl
(@) 3
(b) I & b= Bl IR 7
(c) 31 @I o & srgfaer &% § dqER P WE B
(d) o & srgerd &R 97 & srfawr 2|

Ans. b
Sol. ,(Az)article moving in a circle require centripetal force. This is always towards the centre.
54. An object is undergoing a non accelerated motion. Its rate of change in momentum is
(a) a non-zero constant (b) zero
(c) not a constant (d) None of the above
PIs fUvs @RUEN T $R <& 2| 396 997 gRad= & & 1 8 ?
(a) YR (b) I
(c) 3R & @) STaT § I I T
Ans. (b)
Sol. As acceleration is zero so force is zero thus rate of change of momentum is zero. Thus momentum is
constant.
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55.

Ans.

Sol.

56.

Ans.

57.

Ans.

58.

Ans.

Electron Motion

3

»

Magnetic Field

&

The motion of an electron in presence of a magnetic field is depicted in the figure. Force acting on the
electron will be directed

(a) into the page (b) out of the page
(c) opposite to the motion of the electron (d) along the motion of the electron
gerdg T
FEDH &F

v

IR f&d MU o # {5 graat &3 @) faeme # ve goragi= @ wfa @1 fafya fean w2 ) S goragta
R BRI 9

(@) U9 & 3r=x @I MR T amm (b) U B drER B MR g B
(¢) soaci= & fd & fawda arm (d) SorEela @ A & ergfaer B
(b)

F=qvxB

Imagine a current carrying wire with the direction of current downward or into the page. The direction of
magnetic field lines is

(a) clockwise (b) anti-clockwise (c) into the page (d) out of the page

JFETGET 37T UG & IR B 3R GRT Bl &2 aret fhdl gRTaE® AR B Bl SIS | JHEDHII &8F @18
@y foem T 2 ?

(a) Eferomadi (b) arTa

(©) U & 3R DI 3R (d) U1 & 9TER DI BIR

(a)

The main thinking part of the brain is

(a) midbrain (b) hypothalamus (c) forebrain (d) hindbrain
AR BT YR e ATl A1 BIT—d1 § 7
(a) AgARTSD (VEEEERED (c) STHRTSD (d) JaHRash

(c)

Which one among the following hormones stimulates the plant cells to grow in a manner such that the plant
appears to be bent towards light ?

(a) Cytokinin (b) Auxin (c) Gibberellin (d) Abscisic acid

f=fafaa 9§ 9 &9 —1 g 916y BITHRN & 39 UHR 969 & fov URT &xal 7, I urey gahrer &)
3R g1 g1 Ueiid BIar g ?

(a) ATSCIBISA (b) 3iffRT (c) freRfer (d) V=AT® 8Tt

(b)
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59.

Ans.

60.

Ans.

Sol.

61.

Ans.

Sol.
62.

Magnetic Resonance Imaging (MRI) is used in medical diagnosis to obtain image of our internal body
organs. This is primarily possible because

(a) our body possesses a permanent magnet

(b) MRI uses an external magnet to generate a magnetic field in our body

(c) MRI uses an external electric field to generate magnetic field in our body

(d) ion's motion along our nerve cells generates magnetic fields.

AR ATIRS IRIR 371 BT Gfifar grad - & forg e e graar srgme fora =R (MRI) 9g&
g ST & | I' gegd: 9 |9ed B |

(a) TR TRR ¥ W = B

(b) TR IRR ¥ B &F SI+1d B B 7Y MRI g8 D BT TAN HRAT 2

(c) TR IR H JEPH & Sfd d & forg MRI 5&71 fagfq &3 &1 9T a2 |

(d) TR T PIRBRIT & AT ] B T FHI &F YaT Sl 2 |

(b)

The motion of a particle is given by a straight line in the graph

given above drawn with displacement (x) and time (t). Which

one among the following statements is correct ?

(a) The velocity of the particle is uniform X
(b) The velocity of the particle is non-uniform

(c) The speed is uniform and the particle is moving on a circular path

(d) The speed is non-uniform and the particle is moving on a

straight line path O N

v

SR AU U oo™ H TP BT B 9Ifd B AT (x) SR 4
g (1) B WA Wi T Th WA W1 gRT SAT AT R |

ferfafad 4 & 19— U6 o9 9 8 7

(@) FT B I UHAAN B X
(b) BT BT I A &

(C) T TH FAM 2 R HU U& JAHR G TR TAEH 8 |

(d) AT AN & 3R P T TR @1 TR T B | 0
(a)

Slope is constant, slope of x, t graph gives velocity, so velocity is constant.

v

The human eye is like a camera and hence it contains a system of lens. The eye lens forms
(a) a straight or upright, real image of the object on the retina

(b) an inverted, virtual image of the object on the retina

(c) an inverted, real image of the object on the retina

(d) a straight or upright, real image of the object on the iris

AMd 99 Uh IR & GAM 2, T S9H U o & 8| 95 o9 R §91a1 § 7
(a) Sfeuca R fvs &1 Hiem a1 FHeaieR ardfasd ufafaw

(b) 3fte R five @1 wfaarfa, smari gfafes

(c) gftcuea wR fuve &1 ufdaifia, arsfas ufafaw

(d) 3R W fUve &1 N1 T eaiy, aardd wfafar

(c)

Real image is formed on retina

Match List -I List-1l and select the correct answer using the code given below the list :

List-l List-lI
(Rock Type) (Composition)
A. Sandstone 1. Rock formed from peat or other organic deposits
B. Limestone 2. Clay, breaking easily into flat flake plates
C. Coal 3. Calcium carbonate formed by precipitation
D. Shale 4, Cemented sand Grains
Code :
A B C D A B C D
(a) 4 1 3 2 (b) 2 3 1 4
(© 2 1 3 4 d) 4 3 1 2
Resonance Page # 8
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Ans.

63.

Ans.

64.

Ans.

65.

Ans.

A -l g -1 gafea Iy sk gl & A AT I fe B 9 R g8l SR gy

3= -l =t -l
@ IBR) (Fee)
A DA 1 dIe AT I HrEfS FET a4 I
B AR 2 AT T IAD wicl § gerl arall gRid
C DI 3 ALY H TT b oIH HIai-c
D N 4 HAIRTA dre], HOT
T
A B C D A B C D
€)) 4 1 3 2 (b) 2 3 1 4
© 2 1 3 4 d 4 3 1 2

(b)

The 'Golden Quadrilateral' which connects Delhi, Mumbai, Chennai and Kolkata passes through
(a) Amritsar — Ahmedabad — Pune — Patna (b) Jaipur — Porbandar- Hyderabad- Varnasi
(c) Vadodara—Pune- Visakhapatnam- Varanasi (d) Nagpur— Bhopal- Surat— Amritsar

faeell, g, 9T 3R BIddal dI Silew arel ol agye ®af | [oidl 8 7

(a) AR — FEHAEIE — U7 — Y& (b) SRIYR  — YRR~ ZERMEIE — IRV
(C) TIERT —gUI — fARIRATIC S TH— TRV (d) YR — |1 — G- IFFTAR

(c)

Delhi Mumbai Industrial Corridor connects the political and business capital of India. Arrange the States
from highest to lowest in terms of the length of the corridor passing through them.

(a) Maharashtra—Gujarat—Rajasthan—NCR—of Delhi

(b) NCR of Delhi—Uttar Pardesh— Rajasthan—Maharashtra

(¢) Rajasthan-Gujarat—-Maharashtra—NCR of Delhi

(d) Maharashtra—Rajasthan-Uttar Pradesh — NCR of Delhi

faeel, grag olreifires TR WA @1 ASTHI® 3R AR ISTEFT I SISl | I5A1 DI I7H I BIdR
TOIRA dTel TRIR B TH 1S & MR W Ieaddd F YATH DI 3R & B H FaRed Hifo |

(a) MERT ORI~ — fdeell-NCR

(b) &=l NCR IR Uqe— ST\ — HERTE

(C) ISTRAT—TORIT —HERTS; —faeell NCR

(d) FERTE — JAORAT-STR T — faeell NCR

(c)

Which of the following statements is/are true ?

1. The angle of the axis in relation to the plane in which the earth revolves around the sun is not constant.
2. The amount of energy given off by the sun changes with the transparency of the atmosphere.

Select the correct answer using the code given below.

(@) 1 only (b) 2 only (c) Both 1 and 2 (d) Neither 1 nor 2

foafolRed § 9 w9-a1 / 9 SO IA B/ B ?

1. 58 a9ae | 9ol @ & ARI SR qRBHAT B & IUD e H 378 BT BT R e © |
2. 90 & gRI BIYN WM dTell Sl &) A1 aIgAvSe & IR & d1 dE o) ¢ |

a1 fAy T g B W IR G SR gy |

(a) Had 1 (b) Baet 2 (©) 1 3R 2 g1 @aTAa 198 2
(a)
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66.

Ans.
Sol.

67.

Ans.

68.

Ans.

69.

Ans.

70.

Ans.

A car is moving with a uniform speed. However its momentum is changing. Then the car
(a) may be on an elliptical path
(b) is moving on a straight path without acceleration
(c) is moving on a straight path with acceleration
(d) is moving without any acceleration
PIS PR UHTHM AT F TIHE 8, STafh SHBT AT 981 Y& 8 | 99 I8 PR
(a) g 91 W & |l B
(b) f1 ROT & <l DT v R fqHE B
(c) @R afed el W 9o R o= ®
(d) f3=1 ford @Ror & o= 2
a
/(As) speed is constant, so direction of velocity changes, thus it can not be a straight line path and it should be
accelerated.

Ohm's law defines

(a) a resistance (b) current only

(c) voltage only (d) both current and voltage
3 &1 o w1 gy xar 27

(a) uftRg (b) Haa gRT

(c) Baat dreedn (d) T SR dreedT &I

(a)

Which of the following statements about sexula reproduction in flowering plants are correct ?

1. Stamen is present in the centre of a flower. 2. Stamen produces pollen grains in the overy.
3. The swollen bottom part of carpel is the ovary. 4. The fusion of germ cells gives rise to zygote.
Select the correct answer using the code given below.

(@ 2,3 and 4 only (b) 2 and 4 only (c) 1 and 3 only (d) 1, 2,3 and 4 only

gufl gredl #§ Afffe S99 @ ar ¥ frefeiad § 9 9.8 $UF 96 2

1.9, 0 & S= d [FemE 8 2| 2. GHIR, USRI H WRETHI II= Gl 2 |

3. JUSY P HAl B3N Tl AT USRI T | 4. ST DRSS & FAdT ¥ ATl Ica il 2 |
a1 fay W g B TR aR G SR gy |

(@) ad 2, 330 4 (b) HaaT 2 3R 4 (c) Dacdt 131R 3 d)1,2,33R 4

(c)

The complete digestion of carbohydrates, proteins and fats occurs in

(a) stomach (b) liver (c) small intestine (d) large intestine
FratEEgse, WS 3R a4 &1 qof grem foead 8rar 2 |
(a) STeR (b) T (c) =i (d) ge<i=

(c)

Which one among the following statements about a healthy diet is correct?

(a)Regular eating of high-energy snacks between meals is healthy since it provides energy and vitamins in
lent

?b) F?uits and vegetables make a good choice because their energy content is high

(c) A balanced diet must contain plenty of fat and protein with little carbohydrates and fibre

(d) An optimal quantity of fat, protein carbohydrate with adequate amount of water and fibre makes a

healthy diet.

RARR AMER & IR # fr=AfeiRad 4 & 19— (& $HF I8 87

() Al & I Iod Holl o dlel AER FRIMAT WIHl WReSR § RMTd T8 9garad 3 ol iR faerdq

TS &l 2 |

(b) ®at 3R AFSTAT BT T BT BT BT & RSP SHH ol Bl AT fF Bl 2 |

(c) Tfrd 3MER H A1 3R WITH $I IgarId & A1l 3] PBlaiglsge AR ;T BT & 212y

(d) T4, WIS 3R Hraiegge & S<dq A & A1 It AT H Sid 3R 3T I WRAFGR JMER g9 ¢ |

(d)
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.

Ans.

72,

Ans.

73.

Ans.

74.

Ans.

The Nobel Prize in Medicine for the year 2012 has been awarded to John B. Gurdon and Shinya Yamanaka
for the discovery that

(a) mature specialized cells can be reprogrammed to become immature cells

(b) stem cells can be programmed to develop individual body organs

(c) dendritic cells have a critical role in the development of adaptive immunity

(d) thymus cells have a critical role in the development of innate immunity

S 91 RS SR R IS @ 6 @iel & forg ad 2012 &1 smgfde d Fide RebR fear war?
(a) URU® faRkre HIR@RI B saRue IR@EBH § 98 S & U g Ui fbar S |6 2 |

(b) T () BIRNGRI BT AfTd TRR 3 BRI w7 & forw grum far <1 awar

(c) TTsTa=] BIRTBIA @I, 3ggqen U &qd & fadrd § HIf<ad AT 2

(d) AT BIRBIST B FEST JAGeTHAT & fAbrE H shif<ad T ©

(a)

The sex of a newborn boby is determined by the chromosome inherited from

(a) the mother (b) the father (c) mother's mother (d) father's father
Taurd Ry & o7 @1 MegiRer e 99 gy QUNE gRT f6ar S |abdr 27
(@) #rar (b) foar (c) ATAT &1 AT (d) faar &1 foar

(b)

Arrange the following events that took place in the first decade of the 20th century in chronological order ;
1. Indian National Congress, Bombay Session 2. Establishment of All India Muslim Lengue

3. Partition of Bengal 4. Indian National Congress, Surat Session
Select the correct answer using the code given below.

(a) 1-2-3-4 (b) 1-3-2-4 () 4-3-2-1 (d) 2-4-1-3

2091 TATE] & UBt &S W B ATl FEfIRad geHIsl ®I HIATIHA H FaRerd I |

1. R I B 763 SMfIe™ 2. 3 sfosar gRe™ o1 1 wrae

3. 99T &1 fawToe 4, YRART K SO, GIA ST

A QU Y e BT YA @R Rl SR G |

(a) 1-2-3-4 (b) 1-3-2-4 () 4-3-2-1 d)2-4-1-3

(b)

Match List-1 with List-1l and select the correct answer using the code given below the lists :

List-1 List-Il
(Peasant Movement) (Region)
A. Mappila outbreak 1. Maharashtra
B. Ramosi peasant force 2. Bengal
C. Kuka revolt 3. Malabar
D. Pabna revolt 4, Punjab
Code :
A B C D A B C D
(a) 3 1 4 2 (b) 3 4 1 2
(© 2 4 1 3 d) 2 1 4 3
-1 BT G-Il § gafera ST iR Gl & 1 Ay Y He B 9AIT SR Fal SR g |
A1 -1
CAEECIEED) (&)
A Aifue fagre 1. HERTS
B. Ml HYF T 2. EHIR
C. ERIRECE 3. ATATIR
D. SICEINGE 4 BvIE]
T
A B C D A B C D
(a) 3 1 4 2 (b) 3 4 1 2
(© 2 4 1 3 d) 2 1 4 3
(a)
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75.

Ans.

76.

Ans.

77.

Ans.

78.

Ans.

79.

Ans.

80.

Ans.

81.

Ans.

Consider the following statements about Periyar E.V. Ramaswamy :

1. He was a politician, social activist and an important figure in the dravidian movement in South India.
2. He championed the cause of caste upliftment, nationalism and the rights of women.

3. He was contemporay of the Maharashtran anti-caste reformer, Jyotiba Phule.

Which of the statements given above is/are correct?

(@) 1 only (b) 3 only (c)1and 3 (d)1and 2

IRIR 1. ImrErt & R | ffoRad sl ) R $ifsg |

1.9 U I[GIHae AESe |ibaaEKs sk el ara 3 sfds ar<iay & e dgaqul Afdd o |
2.9 Sfa SeE g 3R ARI ERI & St & A E o

3.9 R & Sifa—faRidl gare SAifaar el & a9are o |

STF # § BIF-/H HAT T 2/7?

(@) dad 1 (b) &I 3 (¢) 13k 3 (d) 13fR 2

(d)

Two atoms are said to be isotopes if

(a) they have the same atomic number but different mass numbers

(b) they have the same number of neutrons but different mass numbers

(c) the sum of the number of protons and neutrons is the same, but the number of protons is different
(d) they have the same number of neutrons but different modes of radioactive decay
&1 JRATSH P FHRATTS Hal A 2, afa

(a) ST URHTY—3hHID HHIA B, TR SHb! Tedu a=l A= &

(b) ST YSIHT B G AN B, IR STH |1 A 8

(c) STH WS MR =T &Y W& BT AThS FHM &, IR el &) G = &
(d) ITH JEHT @ T 99 28, IR, MfeAfaea e ARt = 8@

(a)

The phenomenon of radioactivity was discovered by

(a) Marie Curie (b) Pierre Curie (c) Henri Becquerel (d) J.J. Thomson
FEAfdeaar & gRee & @il e @17
(@) 7 = (b) R =& (¢) B 9% (d) o1, AT

(c)

The principle of cleaning by soap is

(a) surface tension (b) floatation (c) viscosity (d) elasticity
AgT R fries @1 Far g 27
(@) 5 d-rd (b) e (c) =ar=Tan (d) IamTReren

(a)

Sodium stearate is a salt and is used

(a) in gunpowder (b) in paint (c) to make soap (d) to make fertilizer
AIfeam ReRe Ush ofavl & | g8 fodd uyed grar 87
(a) I | (b) U< # (C) ATg qT ¥ (d) IIP 99 H

(c)

The pure form of carbon is

(a) diamond (b) graphite (c) charcoal (d) fullerene
HTET BT Yg wY R 27
(@) BRI (b) IwTSCT (c) ARPIA (d) BT

(b)

Which one among the following countries was least affected by the tsunami that hit the Indonesian Ocean
on 26th December, 20047

(a) Indonesia (b) Malaysia (c) Sri Lanka (d) India
26 feawR, 2004 H SSFRAIE FERNR H Y Y4l gR1 Frfoiad § & dI=ar Q9 *Fad g4ifad g
(a) SR (b) FAf3rn (OEISED (d) Rd
(c)
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82,

Ans.

83.

Ans.

84.

Ans.

85.

Ans.

86.

Which one among the following statements is not true about Bahadur Shah Jafar 11?
(a) The rebels of 1857 proclaimed their loyalty to him

(b) He was Killed by Lt. Hodson a cavalry officer in Delhi

(c) He was reluctant to lead the Revolt of 1857 in the beginning

(d) He was a poet

FEIGR 3B SR fgald & 9r d fforiad W & S U b 9el 81 87
(a) 1857 & fagIfzdl =1 I9a forg SOl IWIGRY & IFEATTVT Bl

(b) 7 facell # RARIE THIR oiftfesic &fewd §RI AR U

(C) TI[H ¥ I 1857 & fAmIE & T3NS B & $28D ol o

OERGEICE]

(b)

Which one amone the following statements is true about Lord Curzon?

(a) He had full sympathy for the Congress

(b) He introduced th eSubsidiary Alliance

(c) He succeeded Lord Canning as the Viceroy of India

(d) He separated the divisions of Dacca, Chittagong and Rajshahi from the province of Bengal and annexed
them to Assam.

dre doid @ IR H frAfaRad § 9 S99 Uh $UF Fal 27

(a) ®UE & Ui S9! QUi Ferg4fa off

(b) S=IH HEN AT YR @

(C)d URd & AR & ®Y H dle DT & ISTIRMTBRI a7

(d) =19 TPl feTiia 3R SRSl & ¥ Bl 997 & Ui F 7T fhar 3R S g # fiyen fe=
(d)

Which one among the following statements about Civil Disobedience Movement is correct?

(a) It started with Gandhiji's march to champaran

(b) Under Gandhi-Irwin agreement the Congress agreed to give up Civil Disobedience Movement
(c) The British Government was quite soft towards the movement from the beginning

(d) There were no violent incidents during the movement

AT 37ae s<led & IR H fr=fafad § 9 o9 e HUF 981 27

() I8 TTETSl & FIRRY A F YR g3l

(b) 7T SRfA Wi & 1efl= HIUW AATI S7ae M= Bl BIS a7 Bl HS9d g8
(C) ST TPR Y& 4 & =T Bl AR goiaar - off

(d) AT_TeE & SRM By RHAS geA T8 g

(b)

The greatest stylistic forms of temple architecture during the early medieval period were the Nagara, the
Dravida and the Vesara. Which of the following was the geographical spread of the Dravida style?

(a) Between Vindhyan and Krishna river (b) Between Krishna and Kaveri rivers

(c) Between Vindhyan and Kaveri river (d) Between Godavari and Krishna rivers

IR, gfds 3R 9R, URMIH AdBIe & QIR Afex dgepdl & Hewd Aol wg o | fFeferiad § 4
DI, &fds el B AN faer or?

(a) forea &R qon =1 & 9= (b) T 3R HI9 AfA & /=

(c) frer @R Bra) 7Y & 4 (d) TIeTeRY 3R gwn Afedi & 4=

(d)

Consider the following statement

No Indian could have started the Indian National congress.. If the founder of the congress had not been a
great Englishman and a distinguished ex-official, such was the distrust of political agitation in those days
that the authority would have at once found some way or the other to suppress the movement

Who among the following gave the statement on the establishment of Indian National Congress ?
(a) W. Wedderburn (b) G.K Gokhale (c) R. Palme Dutt (d) Allan Octavian Hume
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Ans.

87.

Ans.

88.

Ans.

89.

Ans.

90.

Ans.

91.

Ans.

fr=ferRad ®em R faarR S |

I MR LT HIUH BT YR T2l B Fhdl AT A B BT TRAYS UH He[ A IR v fafdre
JqT g7 AR 7 21, A1 S A1 Aoad T § a1 AfAsard o1 fh Ty 89 r=re= &l gd
B U BT 9 PIs BT b1t o |

ARG T B B RAMYET TR 396 A fdae a8 ded faar o ?
(a) B, d=TH (b) ST &. @ (c) IR, UTeH &1 (d) Ve SiaeIfaa gH
(d)

Which one among the following is the chemical formula of gypsum which is an ingredient fo cement ?
freferRaa § & dra—d1 foroqq &1 Rfd g3 8, Sl < 6 S Jucd © ¢

(@) CaSio, (b) CaS_4.2H,0 (c) CaO (d) CaSO,. 3H,0

(b)

Which of the following statements in connection with the properties of water is/ are correct ?
(1) Water has higher specific heat in comparison with other liquid

(2) Water has no dipole moment

(3) Water has low heat of vaporization

Select the correct answer using the code given below

(@) 1 only (b)2and 3 (c)1and 3 (d) 3 only
T D O B T W EfafRea A A eI A A RE AR R /87

(1) 31 =dl B G | T b AR HHT uersd ffed 2 |

(2) STt @1 fgga smeol i & |

(3) et B 1 qre o R |

a1 AU U g B W IR G SR g |

(a) B 1 (b) 23R 3 (c) 13k 3 (d) dad 3

(a)

The bond which is present between water molecules is

(a) electrovalent bond  (b) covalent bond (c) hydrogen bond (d) van der waals bond
T B IS B W DA 3 faeHE B B ?

(a) fagd HaISTd aMeg  (b) WEHATSN AT CEESSE OERESEIG: RICE]

(c)

Water is a good solvent. This is due to high

(a) dielectric constant of water (b) surface tension of water
(c) specific heat of water (d) heat of fusion of water
T I& 301 e ¢ | I8 fHas I=d 81 & BRUT 8 ?

() ST &1 WIagd ReRi® (b) T T g @

(c) 5Tt @I fafdre S (d) ST & Hrad P ST

(a)

Which of the following statements regarding the property of hard water is/are correct ?

(1) Temporary hardness of water is due to the presence of soluble magnesium and calcium hydrogen
carbonate

(2) Temporary hardness of water can be removed by boiling

(3) Calgon’s method is applied to remove temporary hardness of water

(4) Permanent hardness of water is removed by Clark’s method

Select the correct answer using the code given below :

(@) 1 and 2 only (b)1,2and 3 (c)3and 4 (d) 2 only

FOR T & o & 4 @ ¥ frafofed § 9 S9-ar/9 doe 98 2/

(1) ST BT IRARN H3IRAT, SHH SURerd faera A W 8k dfewad gEgIvd $Eive & &R &l 8
(2) ST BT IRATT HIIRAN, SAAT A FHG DY ST APl ©

(3) STl DI SRATN FHARAT G T & ol FHTA Iy o1y fopan San 2

(4) ST B R HSRAT Ford A gRT g @ o B

A fQU Y g 1 9ANT wR FE SR G

(@) Bad 1 qAT2 (b)1,272m3 (c) 3 oI 4 (d) Bad 2

(b)
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92,

Ans.

Sol.

93.

Ans.

Sol.

9.

Ans.

95.

Ans.

Sol.

96.

Ans.

Sol.

An ant is moving on thin (negligible thickness) circular wire. How many coordinates do you require to
completely describe the motion of the ant ?

(a) one (b) Two (c) Three (d) Zero

T HiSl U Ydel (T0F HIE) godR IR R FoAdl 2 | Ael @l Tfd b1 goiqar aviF &1 & oy fda
faden® @ smavgdar 7 ?

(@) T (b) =1 (o) T (d) 3=

(b)

Circular motion is a two dimensional motion, two co-ordinates

If d denotes the distance covered by a carin time t and § denotes the displacement by the car during the
same time, then :

e d U SR R G9A tH =l 18 g8 &l fAfde &=ar 2 ok ¢ S & w99 4 aR & fawemns &1 fAfde
=l g, al

(@ d<|S] (b)d =S| only (©d>|S] d) d<|8§|
(c)

Displacement is the shortest distance.

A current-carrying wire is known to produce magnetic lines of force around the conducting straight wire. the
direction of the lines of force may be described by :

(a) left-hand thumb rule for up-current and right-hand thumb rule for down-current

(b) right-hand thumb rule for up-current and left-hand thumb rule for down current

(¢) right-hand thumb rule for both up and down currents

(d) left-hand thumb rule for both up and down currents

TP IRMENRT AR, 9 ded WY R & dRI 3R G ga—@T I Slad B & fU S S 2 |
TR Bl e ®1 fead aftia fear s |sar g ?

(a) SURIRT & folw am B 3CT 74 3R gaRT & fofu Sfévr 8% oar M

(b) SURERT & forg SfEroT 88 3R[ET fFRM 3R /eI & ol 9™ 8% S7var 1M

(c) SURIRT 3R 3gRT JH1 & forg &feéror & ovar a4

(d) SURHRT 3R FaRT &9 & oY am g 3ier o

(c)

If an object undergoes a uniform circular motion, then its

(a) acceleration remains uniform (b) velocity changes

(c) speed changes (d) velcoity remains uniform
afe @13 fIvs e 9ol I &xal 8, A 39®1/39d)

(a) RO THIH &1 &1 © (b) I 5T B
CEIEESSNR (d) I THHA I IET B

(b)

In uniform circular motion direction of velocity changes.

Aforce F is applied on a body (which moves on a straight line) for a duration of 3 s. The momentum of the
body changes from 10 g cm/s to 40 g cm/s. The magnitude of the force F is

(a) 10 dynes (b) 10 newtons (c) 120 dynes (d) 12 dynes

fort favs (S TRt X@T # 9o V&1 8) R BIg 9o F, 39 afd & forw ovman Sfrar 2 | fUvs &1 Saw7 10 umH
I M/ A 9ed PR 40 I 9. WA B S 8 | g F B alRk|mr |/ 27

(a) 10 s1g4 (b) 10 =ge~1 (c) 120 ST (d) 12 S5
(@)
F= @:M:10 dynes
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97.

Ans.

98.

Ans.

99.

Ans.

100.

Ans.

101.

Ans.

Which among the following areas is conducive for well irrigation?
(a) Rocky land uneven surface of Peninsular India

(b) Dry tracts of Rajsthan and Gujarat

(c) Brackish groundwater region of Uttar Pradesh

(d) Geltaic regions of Mahanadi, Godavari and Krishna

frfafad &= § & s oy e & fou Swe g 2 |
(a) TSI MRA & YA U4 3de I (b) ISR 3R ORI & Yb &F
(C) STR U BT WRT HIATA & (d) HETET TR SR WM & ol Ul

(d)

Humid climate, ready market and availability of cheap and skilled labour are the conditions conducive for
the production of cotton cloth. Which of the following States of India will have the highest cotton cloth
production?

(a) Gujarat (b) Karnataka (c) Maharashtra (d) Punjab

L 9 B ITeA B oY 3fTe STearg JUR dIoTR iR WK Td G2l i B STl Herdd el 8 | 9Rd
% frfoiad s 4 ¥ (e 59 3 Gl 99 1 qaY f9d Iedra 8RNY

(a) oI (b) BATCH (C) HERTS: (d) UTTe

(c)

The requirement of water is highest in which one among the following industries?

(a) Iron and steel (b) Oil refining (c) Paper from wood (d) Rayon
frfalRad et # 9 59 v § 9a9 oifdd ST @) magadhdn 2idl 27
(a) g @R gHIa (b) I TMe= (C) BT | BT (d) Xt

(a)

Which of the following statements regarding hurricanes is/are correct?

1. They develop over the ocean between 8° - 15° N.

2. They are almost absent in the South Atlantic Ocean.

3. They do not develop close to the equator.

Select the correct answer using the code given below.

(@) 1 only (b) 2 and 3 only (c) 1 and 3 only (d1,2and 3

gHoE & TR § frEfaRed § 9 I § B 98 27

1.9 8°—15°N & 919 W= & SR fAbfad ad @

2.3 Tferr ercdifed WeRR W o Jrguierd B |

3. 3 HERET & Afde e 78 8 |

a1 fAU Y g B R IR G SR gy |

(@) dad 1 (b) It 28R 3 (c) Dact 131R 3 (d) 1,23 3
(a)

Joint Parliamentary Sessions in India are chaired by the

(a) President of India

(b) Vice-President of India who is the Chairman of the Rajya Sabha
(c) Speaker of the Lok Sabha

(d) Prime Minister of India

IRA § §Yad G AT DI eI DI BT 2 |

(a) TR &1 i (b) TRT &1 SRR, ST ST FHT BT FHI(T B
() TIPS T 31ee] (ORESEEIREIRLE]
(d)
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102.

Ans.

103.

Ans.

Sol.

104.

Ans.

105.

Ans.

Sol.

106.

Ans.

Which one among the following is not a function of the Comptroller and Auditor General of India?

(a) Auditing the transactions of Centre and state Governments relating to contingency funds and public
accounts

(b) Compiling the accounts of Defence

(c) Auditing the accounts of institutions financed by the Government

(d) Compiling the accounts of States

ferfafad 4 & 91 U, 9Rd & F9$ 3R A=erar wWigd BT H1d &1 87

(a) MHRARAT R IR e @Rl F THERIT &= U9 o0 WRERT B oF o7 DI TETaxIel] BT
(b) & ER BT Hhet-T BRIl

(c) PR gRI faauiia dxemeli & @il &l T@IIRIET HRAl

(d) IS &A@ BT Fhad HIAT

(b)

Specific gravity of silver is 11 and specific gravity of iron is 8. Which one among the follwing is the approxi-
mate relative density of silver with respect to iron?

Al @1 faRre Twa 11 3R i @1 fafre 7o 8 7 | fFr=folad § & dI9—d1 Ush, dlg & el =dral &1
AEde e w9 27

(a) 1.4 (b) 0.7 © 3.0 (d) 2.8

(a)

Density of silver w.r.t. iron is density of iron

Metal used to make wires for safety fuses must have

(a) very low resistivity and high melting point (b) high resistivity and low melting point
(c) low resistivity and low melting point (d) high resistivity and high melting point
WD 4 3 ARl & FEier § ugeh arg |

(a) = gfeRigadr iR = Tedid a1 & @1y

(b) S=a UfeRIgHdT IR = Teid a1 & A1y |

(c) g ufeRigar 3iR g7 Ta=id 2191 & a1y |

(d) S=a UfeRIedT iR S ToA=id 8191 & ARy |

(c)

A positively charged particle projected towards west is deflected towards north by a magnetic field. The
direction of the magnetic field is

(a) towards south (b) towards east

(c) in downward direction (d) inupward direction

af¥gd #1 IR Ufia &1 ga—amafid Fo1 & ga &89 gR1 SR 3 R faafaa & o 8 | g &84
@1 fa=m @ 2?

(@) =& B AR (b) gd FI AR (c) reTgY faem H (d) =g |

(d)

F= qué

Which one among the following films won the prestigious Golden Globe Award, 2013 in the best motion
picture—Drama category?

(a) Life of Pi (b) Argo (c¢) Lincoln (d) Les Miserables

freferiRaa 4 9 &9 U fhed 1 99 2013 3 HaltpT aafam—cd #of § 9l Tieed Taid QRREHR
Siar?

(a) A% i U1g (b) 3t (c) foid= (d) &1 fAoRT=

(a)
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107.

Ans.

108.

Ans.

109.

Ans.

110.

Ans.

111.

Ans.

112.

Ans.

Ward Cunningham is famous for developing for the first time

(a) the free encyclopedia on Internet (b) a computer language called ‘Java’

(c) adigital camera (d) a software which can take Hebrew language as input
drs wfem aduem w1 el w9 & forw ufag 27

(a) faar, Sexie R Mges faeaare (b) HFeR W91, {5y SIrEr FEd |

(C) TP HFRT (d) SiredER, 1 f2g T & 99 & w9 H of I&dr 2|

(a)

Catch me if you can is a Hollywood movie made on the life of Frank Abagnalc who was

(a) a famous lawyer (b) a famous swimmer
(c) a famous sprinter (d) an infamous imposter
&a H 3% Y b, U gleilgs daaiad, b Vaid & Siiad IR a1 8, Sl
(@) I IPHIA o (b) I ARTH o

(c) T=ATE g gradh o (d) BT IEarS] o1

(b)

Who among the following is a sports-person who has won the maximum number of gold medals in Sum-
mer Olympic Games?

(a) Paavo Nurmi (b) Carl Lewis (c) Michael Phelps (d) Mark Spitz
T8 F B9 M Nfad Wl § AfIbad A § Wuiygd Siid- arell Racrs! 87
(a) urar gHi (b) BTl g2 (c) AIEHa B (d) At R

(c)

Anthony De Mello Trophy is associated with test cricket series played between

(a) Australia and India (b) England and India

(c) England and Australia (d) South Africa and India
ol @ el Sl fhas 9 well S arell <% fhdie si|en & wwfa 77
(a) i foran 3k wRA (b) TS 3R WRA

(c) $7IUS 3R M fer (d) f&roT bl <iR WIRa

(b)

Which one among the following European countries has the maximum number of running nuclear reac-
tors?

(a) Germany (b) Switzerland (c) France (d) Norway
feafeiRaa 5 9 &g RO < | Af¥das g ¥ =@re, e Reger 87
(@) ST (b) RacsReIvS (c) W (d) =fd

(c)

Which one among the following has completed thirty years of its development on 1st January, 20137
(a) Transmission Control Protocol/ Internet Protocol (TCP/IP)

(b) Computer Network

(c) Social Networking Sites

(d) Network Control Protocol (NCP)

frfafaa § & {59 te 7 1 59 2013 ®1 oow et & v ad @ fag 27

(a) VYY1 fRIF01 YreTdiel/Sexwe Wsidid (TCP/IP) (b) FFYTR ATaD

(c) AMIfT® wTeafdh T HTge (d) wiead fEF0T dieiaia (NCP)

(a)
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113.

Which of the following statements is/are correct?

1. The 14th Finance Commission was constituted under the Chairmanship of Shri Vijay Kelkar.

2. The 14th Finance Commission has been specifically asked also to recommend how non-priority PSUs
be relinquished.

Select the correct answer using the code given below.

(@) 1 only (b) 2 only (c) Both 1 and 2 (d) Neither 1 nor 2

ffoRad & I dII—1/HT T8 87

(1) 20 IS BadR B et H diqgd fa< AR BT T3 garl |

(2) digad fad AT &1 fa9y ®U 3 sHa! WY RIwIReT &= & fou wer T & IR—werfisar ura PSUs
3l fHd gHR AN f&am oy |

A QU I He BT YA IR GE IR G |

(@) dae 1 (b) &I 2 (¢) 1 3R 231 @aTa 13RI A2
Ans. (d)
114.  Which of the following statements is/arc correct?
1. UN General Assembly in November 2012 adopted a resolution banning death penalty.
2.India voted against the resolution.
Select the correct answer using the code given below.
(a) l only (b) 2 only (c) Both 1 and 2 (d) Neither 1 nor 2
forfoRad § & BI—1/PAT Tl 87
1. FawR 2012 H WY<h U TG 7 Gegavs W AP o Pl Hehed I |
2.9Rd 71 39 9&d & fag | w9 faan |
a1 AU U g B W IR G SR gy |
(@) a1 (b) dact 2 (©) 1R 2 g1 () Far1iRaTH2
Ans. (c)
115. Which one among the following stock exchanges was closed for two continuous days in October 2012
due to the devastating effects of hurricane Sandy?
(a) New York Stock Exchange (b) Toronto Stuck Exchange
(c) National Stock Exchange of Australia (d) London Stock Exchange
frfaRad § ¥ BIF—d1 U IR d6R, IfdceaR 2012 H Hl gio= & ARl gRvid & HROT SR
a1 feqi & o 9w <er?
(@) =@ IR qOR (b) TRII IR IR
(c) 3 ferar &1 I IR IR (d) <9 IR 9doR
Ans. (a)
Directions :
The following eight (8) items consist of two statements, Statement | and Statement I1. You are to examine
these two statements carefully and select the answers to these items using the code given below :
Code:
(a) Both the statements are individually true and Statement Il is the correct explanation of Statement
(b) Both the statements are individually true but Statement Il is not the correct explanation of Statement |
(c) Statement | is true but Statement Il is false
(d) Statement | is false but Statement Il is true
fAden:

frrfafad s (8) ueATel H I FUA 2, $UAA—1 9 HAF-11 3TTHI 39 141 HUAI BT FEAATHYIH
e HRAT E SR g b IR A AT Y we BT YA R AT @

6

(@) 19T HUd Aftedr @ g N A1, FAT-1 FHT FaI FUCTHI 7 |

(b) T19T B @aftedr Gcg 8 odfdpd N FUT-1I, FUF-1 &1 F&I WEIHI0T A&l 2 |

(c) FUF-1 9T 8 Afpd HUT-1II, 39T 2 |

(d) FUF-1 19T 2 Afpd HAUF-1I, I 2 |
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116.

117.

Ans.

118.

Ans.

119.

Ans.

120.

Ans.

Statement |
Insolation is greatest when the sun is directly overhead and the sun’s rays are vertical.

Statement i
When the sun is lower in the sky, the same amount of solar energy spreads over a greater area of ground
surface, so insolation is lower.

H-1 :

wa g A Fedwer a1 2 ok g @ feel Seafer Bl 8, 99 gatay siedd g 2 |

H—11:

9 A ATHIY H UeNTHd 1d &A1 2, Td HIR Hofl B IAT 81 AT {US & JUeldhd 93 &3
UR hd SIdT 8, 7d: gATAU Uemhd =T gdl 2 |

Statement |
The Russian Revolution of 1917 inspired the Indian working class movement.
The Non-Cooperation Movement (1921-22) saw the involvement of the Indian working class.

FHT-1

1917 &1 B HIfd 7 IR SR a1 =<ra & IRka o |
FHa-1I:

AT AT]T AT (1921-22) H IRAT HAIR & B FHAEGY <@T 1347 |
(b)

Statement |

Intellectual criteria which informed the reform movements were rationalism and religious
universalism.

Statement i

Social relevance was not judged by a rationalist critique.

Hega—-I

9 difgs ey, fS=i- GaR JAr=Iesl $I U fdan, aagigas siR arie aadEare o |
Hea—II:

AATSS Fragdl d1 dhgfgard] MATEr & giR1 A8 3fibr 77|

(d)

Statement |

Hard water does not give lather with soap.

Statement i

Calcium and magnesium salts present in hard water form precipitate with soap.
Hea—-I

FHOR ST AGF & AT FE T < |

Hefa—-II:

H3IR T d IuRerd s fedad oIk AMRA9 Aqvr A1ga & A2l Jdely §491d 2 |
(a)

Statement |

Evapotranspiration helps in classifying the climatic types.

Statement I

Only temperature affects evapotranspiration, hence it can be used for classifying the climatic types.

HUa-1

I — ATERAS STerarg UbRi & aMapRol H HETIdl HRAl 2 |

Ha—11:

Sl ATIHIT I —aTaITES = bl YUY HIAT 2, 37d: 39 Sidrg bRl & g D01 & {77 gg<h
fear ST waar 2 |

(c)
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121.

Ans.

122.

Ans.

123.

Ans.

124.

Ans.

125.

Statement | :

There is a large-scale fluctuation of oil flow from oil wells prior to earthquakes.

Statement i

Tectonic stress accumulates to a certain level, the pore pressure within a deep oilbearing stratum reaches
its breaking strength causing oil to sprout along the oil wells.

Ha-1

YHHl & T A U8 dd & dul ¥ 98 UM W dd & 9814 § IAR—agTd 2l ¢ |

Hea—-II:

fagdfe ufdaa ya frefad TR 93 s®<3T 81 91dl 8, M) ddUR & 383 XY 19 3HH! disH &l
eIfh % 9gd WAl & f99 PR A4, dahRd b ARl IR SR e Jrar g |

(a)

Statement | :

The potential energy that results from pushing water above mean sea level is transferred to kinetic energy
that initiates the horizontal propagation of tsunami waves.

Statement i

The vertical displacement of sea-water due to abrupt and jerky movements of fault blocks on sea-bed
gives birth to tsunamis.

Hea-I

Rerfast Hofl, S 3i|d 99 I & SR ST ®I 981 @ & URVIHRESRY BIdl 2, TSt Holl § A=<IRd 8l i)
2 S AR AR HT AT TR0 SIR™T R |

DefI-II:

Y A8 b U WUSI b JHEC AR ACHIR ATA b PRV ST O b Fealar fazernad
gATH H T IGT 2 |

()

Statement |

Indian economy has experienced slower growth rate during the years 2010-11 and 2011-12.
Statement Il :

Indian economy has experienced weakening industrial growth during the period.

Hefa-1I

2010-11 3fIR 2011-12 quf & SR 9RATA srelegaen d smengd 4l gig <% @ |
HT-1II:

I BT $ SR URAIY il § $AGIR &34 drel Aldifis gfyg g3 |

(a)

Consider the following diseases :

1. Cholera 2. Tuberculosis 3. Filaria 4. Typhoid
Which of the above diseases are caused by bacteria?

(@) 1 and 3 only (b) 2 and 4 only (c)1,3and 4 (d1,2and 4
ferfaRad 9 9R fa=mR #Ifory |

1. fagfrer 2. J& 3. BIgafaAr 4. TIBITS
Wi § § P & A At g ey 27

(a) ®del 130R 3 (b) Bae 2 3R 4 () 1,33k 4 d) 1,2 3R 4

(d)

Consider the following statements in relation to plant tissue ‘chlorenchyma’:

1. It is formed by the palisade and spongy mesophyll.

2, It is a form of parenchyma which contains chloroplasts. It serves to transport organic
solutes made by photo-synthesis.

4. It is a thin transparent layer which has chiefly a protective function.

(a) 1 and 2 only (b) 1 and 2 only (c)2and 4 (d) 1, Only
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Ans.

126.

Ans.

127.

Ans.

128.

Ans.

129.

Ans.

qIeq dd ERd Sdd & T | frefaRed doMl ) f[qar $ife

1. I8 @™ 3R Woll qoiHeaded gIRT 997 ® |

2. U8 Ygad &l U w9 ¢ fora¥ 8Ra dad B 2 |

3. 39D FEIAT W PR\ gRT T Frafe Aeal &1 ifaems= grar 2 |
STW § I HIF-1/H FAT TEI g/E?

(@) dad 130 2 (b) 1,23 4 (c) 23R 4 (d) dadt 1
(b)

Consider the following statements regarding osmosis in animal cells :

1. If the water potential of the solution surrounding the cell is too high, the cell shrinks.

2. If the water potential of the solution surrounding the cell is too low, the cell swells and bursts.

3. It is important to maintain a constant water potential inside the animal body.

4. In animal cells, water potential far exceeds the solute potential.

Which of the statements given above is/are correct?

(@ 1and2 (b) 3 only (c)4 (dy2and 3

] BIRTHRIT § WRIRY & FFe H Frefaiad suel R fdaR i

(1) af BIRE & TRI IR & fAea &1 5o fava 9gd e 2rar 2, @ SIfer dafad 8 o 8
(2) afe IR & AR AR & [Jerad &1 ot fawg agd =1 Bran 2, a1 BIRTHT Hoaax He Il 2 |
(3) I8 OIg B B A< ReR T fa9a 991 @ & forg wgayol 2 |

(4) =g FIREIS § T fawa, fer fova 9§ &2 afds arar 2 |

SWI § § P/ BT GE /87

(@) 13fR 2 (b) dact 3 (c) 4 d) 23R 3

(b)

In India, increase in population and diversion of agricultural land for non-agricultural purposes have
resulted in the decrease of

(a) forested land (b) cultivable wasteland

(c) net sown area (d) double-cropped area

AR H, SEERAT H gl 3R Y Y IR—EW w2l & oy sTIdRY & aRumRasy fhadl g1 8ol 27
(@) T (b) == =} qfH () | aTs &F d) feersa &=

(c)

Radioactive decay provides an internal source of heat for the earth. This helps in the formation of which
type of rocks?

(a) Igneous (b) Sedimentary (c) Metamorphic (d) All of the above
RS ferg &g gedl & Ty o1 1 ST=IRep |Id <l & | I8 (b GHR & el & {aior § Wered erdr 87
(@) Mg (OESERIE (c) FrTARa (d) SUIH T

()

Sun emits energy in the form of electromagnetic radiation. The following help in the generation of
solar energy. Arrange them in the right sequence beginning from the starting of the cycle :

1. Hydrogen is converted to helium at very high temperatures and pressures.

2 . The energy finds its way to sun's surface.

3. A vast quantity of energy is generated by nuclear fusion.

Select the correct answer using the code given below.

(a) 1-2-3 (b) 2-3-1 (c) 3-2-1 (d) 1-3-2

T, Soit & faga—grara fafexe & w9 § I@fid oxar 8 | F=fafed 1 9R ot & i & deran
U @I g | I, I9d YR B I Y B gY FE HH H JaRerd BIfTT:

(1) 9gd fde dY 3R 19 R BSgior, Sforad W 98d Wil 2 |

(2) S, YA B A Pl AR S 2 |

(3) STl BT AR HAET BT Fera= gRT SIfwd 81l 2 |

A faw T @e B 9N R G IR G |

(@1-2-3 (b) 2-3-1 (c) 3-2-1 d) 1-3-2

(d)
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130.

Ans.

131.

Ans.

132.

Ans.

133.

The greatest seasonal contrast of insolation on the eath is in which of the following latitudinal zones?

(a) Equatorial (b) Tropical (c) Temperate (d) Polar
gl TR ITAUA HT 31fwan Fwgfre gt fr=fafea § 9 foa sieneha sfeey # 27
(a) fagacia (b) SUThfea= (c) =frarer d) g

(b)

Consider the following statements :
(1) The Ain-i Akbari is the third book in the Akbarnama written during the reign fo the Mughal Emperor,
Akbar.

(2) Abul Fazl was was the author of the first two books of the Akbarnama while Akbar was the author of the
third.

(3) The best known accounts of illustrated Mughal offical reports are the Akbarnama and the Babarnama..

Which of the statements given above is/are correct ?

(@) 1 only (b) 1 and 3 only (c) 3 only (d)1,2and 3

frrfafed oAl W) R S -

(1) 3MET T—heR] T HAC heR ATAADIA H g g = H AR Ja 2 |
(2) YA B FBHAAMT B UBell &l &P & o@d o, Sdidh FhaR A & o@D o |
(3) PRI 3R FERATT Al el MBS Ruref & qaifdd @ fdavor & |
STF # F B/ HAFT FE /8 ?

(@) Baa 1 (b) ®aeT 1 3R 3 (c) Bact 3 (d) 1,23k 3
(d)

Consider the following statements :

(1) Gandhiji's Salt Satyagraha in 1930 was against the State monopoly of the manufacture and sale fo
salt.

(2) The American news magazine Time' covered the progress of Gandhiji's walk to Dandi on the Salt
Satyagraha.

(3) The Vicerory of India at the time of the Salt Satyagraha was Lord Ripon.

(4) Gandhiji did not complete the Dandi March due to ill-health.

Which of the statements given above is/are correct ?

(@1,2and 3 (b) 4 (c) 2 only (d) 1and 2 only

frrfoRad oAl R faar @i

(1) 1930 & 7NN BT 997G TAWE, THE & 99 AR 999 H I5d & THITHR b Rgelh o |

(2) IFMNIH FHRR—TFHT TZA' 7 7ol B, T946G AR U, SIVS! AT B W BT fJavor e |

(3) TS TAUE B FHI ARA b AR s Rud o |

(4) TRE WRY & HRYT TSN 7 SUST A g1 L P |

STF # F B/ HAF FE /8 ?

(@1,23M3 (b) 4 (c) Dact 2 (d) dact 1 3R 2

(d)

Consider the following statements :
(1) Gandhiji's launched the Rowlatt Satyagraha in 1919 because of the British measures to impose cen-
sorship on the Press.

(2) Gandhiji launched The Rowlatt Satyagraha bacause of the British policy of permitted detention without
trial.

(3) The rowlatt Act was restricted to Bombay and Madras presidency.

(4) The agitation against the Rowlatt Act reached climax with the Jallianwala Bagh Massacre in Amritsar.

Which of the statements given above is/are correct ?

(@1,2and 3 (b) 2 and 3 only (c)1,2and 4 (d) 1and 4 only
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frrfaRaa @wedl W) R @I -
(1) 1919 # iefioh 7 ele TATIE BT 3R AT §RT U TR AHR—AIRAT T Bl HRATE B HROT {3 |
(2) TS 7 Reic FRANWE BT AR FUSH B, 977 YaaAr gy PRI @1 g1 1 Afa & dR B |
(3) Iote rfafam 49 3R Ao RS a& Hiffa o |
(4) Jeie rfafm & Racd r<_ie, FMAER § gU Sifordiaral drT gTRIVS & A1 RAHY TR U5l |
SYgE # ¥ B BT 9E § ?
(@1,23M3 (b) BT 2 3R 3 (c) 1,23 4 (d) dact 1 3R 4

Ans. (c)

134. The acid contained in vinegar is

(a) acetic acid (b) ascorbic acid (c) citric acid (d) tartaric acid

R | PIF—r o grar 7 ?

(a) vRafesd ot (b) THIfdH 37 (c) aTsfe® oret (d) TER®T 37
Ans. (a)

1356.  Which one among the following is not a chemical change ?

(@) Curdling of milk (b) Ripening of fruit
(c) Evaporation of water (d) Burning of coal
ferfafRaa # & I9—1 U, e aRkad= =8l 2 ?
(a) 3I BT STHAT (b) ST BT gD
() STt BT s+ (d) BIIA BT AT
Ans. (c)
136. The acid in gastric juice is
(a) acetic acid (b) nitric acid
(c) hydrochloric acid (d) sulphuric acid
SITHTERI 39 H HIF—AT 37 il 8 ?
(a) vRafe® st (b) TISfeH 37T
(C) TRSIFAIRS 37 (d) ITRIRE
Ans. (c)

137. Anobject is placed at the focus of a concave mirror. The image will be
(a) real, inverted, same size at the focus (b) real, upright, same size at the focus
(e) virtual, inverted, highly enlarged at infinity (d) real, inverted, highly enlarged at infinity
$IE fIvs sraad U & BIHT W @l 2 | 9@ dfafdra w1 8/ ?
(a) BIHE W, IRAfAdH, ITAT, TAN SIHY BT (b) BIHT W, IRAfAd, HEAleR, THH Y 6
() 3= R, A, ufoenfia, s faafdfa (d) o= W, aafas, wfaeifad, oca=a faafda
Ans. (d)
Sol. For concave mirroris u=f,v=o0

138.  An optician prescribes a power = — 0.5 dioptre. The corresponding lens must be a

(a) convex lens of focal length 2 m (b) convex lens of focal length 50 cm
(c) concave lens of focal length 2m (d) concave lens of focal length 50 cm
BIE MR ofdT = - 0.5 SRex R Hvar 2 | 99d o9 &1 21 a1y ?
(@) 2 ¥ BIHF g BT IS o F (b) 50 HHI. BIHT G BT IS ¥
(C) 2 ¥, BIHE g HT JIdA o H (d) 50 HHA. BIHT G BT aqd o
Ans. (c)
1
Sol. P= r
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139.

Ans.

Sol.

140.

Ans.

141.

Ans.

142.

A current | flows through a potential difference V in an electrical circuit containing a resistance R. The
product of V and |, i.e., VI may be understood as

(a) resistance R (b) heat generated by the circuit

(c) thermal power radiated by the circuit (d) rate of change of resistance

R afeR1e arel et fagga afkuer § V AvarR @ ®1 arT | Jarfad Rl 2 | ViR | & Jorthet rIid VI & &
QIR ¥ Bl 8 ?

(a) IR R (b) IRYY ERT S~ AT

(c) gRuY gRT f[Apfa e wfda (d) gfeRie gRads @ <=

(b)

Thermal Power = VI

When the winds blow from all sides to the central low in an anticlockwise direction, then this phenomenon
is known as

(a) anti-tropical cyclones of southern hemisphere

(b) temperate cyclones of northern hemisphere

(c) tropical cyclones of northern hemisphere

(d) tropical cyclones of southern hemisphere

19 999 &R IR A Bl Jfed G &7 @ SR JrrEd) Qe § 98d 2, a9 39 uRgeHl I &1 el ol 87
(a) Tferft Mremd & ufa—Swrafea=ia amara (b) ST Maed & MArer Fghard
(c) STRI Tl & IWTHfCa=a aAhard (d) =feroft Mremed & SwrEfeai awhard

(d)

The diagram given below shows the schematic relations of temperature and precipitation of tropical cli-
matic type over land :

Decreasing
Temperature

T‘] 2 3 4

Increasing Precipitation

Arrange the climatic types in the correct sequence from left to right :

1. Monsoon topics 2. Wet and dry tropics
3. Arid and semiarid 4. Rainy tropics
Select the correct answer using the code given below.
(a) 1-4-3-3 (b) 4-3-2-1 () 2-1-3-4 (d) 3-2-1-4
A fe= T IR A SR Y R ISWTHCaI Searg Uwd & JUUl & Fawell ARl Bl FaiRid SRl @
A Y
T‘I 2 3 4
AT gy
STerarg Ul Bl 9 ¥ SR WEl JghH H FaRerd HIfT
1. 4G SWIhBied 2. 3778 R Y IW[hfeae
3. Y 3R ey 4. gftewy Iwrhiea
I faw U @ &1 FE IR 9 IR g |
(a) 1-4-3-3 (b) 4-3-2-1 () 2-1-3-4 (d) 3-2-1-4

(d)

Which of the following statements relating to tsunami is/are correct?

As the tsunamis leave the deep water of the open sea and travel towards shallow water
1. the speed considerably

2. they attain enormous height is reduced

3. they appear as a gentle rise and fall of the sea

‘Select the correct answer using the code given below.

(a) 1 and 2 only (b) 2 and 3 only (c) 1 only (d)y1,2and 3

Resonance Page # 25

Educating for better tomorrow




Ans.

143.

Ans.

144.

Ans.

145.

Ans.

G & e H frefoiad § & sI9-91/9 $UF 98 2/ ?

S A Gol 9R & TR T Bl BIgHR MR S @ 3R Fefdl 8, a9

1. SHP! TIfA BB TS A B

2.9 faee SaE U R ol B

3. 4 PR # #g SeH-uad ol gdfid 2 @

9 AU W g B TR wR FE S gAY |

(@) dacT 13k 2 (b) BT 2 3R 3 (c) a1 d) 1,233

(b)

Consider the following statements about the Indo-Saracenic archi tecture :

1. It combined the Indian with the European style, of architecture in the beginning of the 20th century.
2. The Gateway of India in Mumbai is the most famous example of this style.

3. There are many famous examples of this style in the colonial cities of Bombay (Mumbai) and Madras
(Chennai).

4. It takes its imputation from ancient Greece.

Which of the statements given above is / are correct?
(@1,2and 3 (b) 2 and 3 only (¢) 1 and 2 only d) 4

Rrg—gwal ag @ aR ¥ Frefed weel W) R Hif
1.20 41 T B AR H TEH AR IRG—2Aell bl JRIU aRg—2ell & |1 FAST gaTl |
2. =S 1 e 3% gsar 59 Ul Bl |l I g IETeR ¢ |

3. 911 (wE) R Ao (ATs) & Siiufafdres el 4 39 Al & sa g IaTER ¢ |

4. SET U JRIAVT YA A9 | foram 2 |

ST § F BIF-A1/H FAFT T B/8 ?

(@ 1,233 (b) HIT 2 3R 3 (c) DA 1 3R 2 (d) 4

(b)

Which of the following statements is/ are correct?

Under Article 200 of the Constitution of India, the Governor of a State may

1. withhold his assent to a bill passed by the State Legislature

2. reserve the bill passed by the State Legislature for reconsideration of the President

3. return the bill, other than a money bill, for reconsideration of the Legislature

Select the correct answer using the code given below.

(@) 1 only (b) 1 and 2 only (c) 2 and 3 only (d)1,2and 3
ferafafad & I dI9—a1/9 Ha= I8 2/8 7

IRA & AL & fgds 200 & 3 ST B I5AUTd

1.9 & fage Aved g1 uiRd fadae R o 1Al A Hahdl 2 |

2.9 & fage dvsd gRT UiRd faegass &l Igdfd @ faR & foy omRféra @ a&dr 2 |

3. fAge @1, o1 fage & el A Avsd gRT gAfdaR & oy olier dadr ¢ |

a1 fay W g B TR wR FE S gAY |

(@) 1 dad (b) a1 3R 2 (c) DIt 2 3R 3 (d) 1,233

(d)

Point out the difference between the local government in India before and after the Constitutional Amend-
ments in 1992 :

1. It has become mandatory to hold regular elections to the local government bodies.

2. 1/3rd positions are reserved for women.

3. Elected officials exercise supreme power in the government.

Select the correct answer using the code given below.
(@) 1 only (b) 1 and 2 only (©)1,2and 3 (d) 2and 3 only

HRA H WIS H 1992 9 gU Hifdur=e weigsi 9§ 9gdl &R 916 & <R &l 9dTsy
1. R T et & frafid fyafas e em=mae & w2

2. 0o feE g Afeeell & forw oiRfea 2 |

3. Faffaa IferY s % wdtea oIfdd &1 T &xd 2 |

a1 faw U g B TN R EE S gy |

(a) Bad 1 (b) HaaT 1 3R 2 (©) 1,233 (d) a2 3R 3
(b)
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146.

Ans.

147.

Ans.

Sol.

148.

Ans.

Sol.

The President of India is elected by proportional representative system by a single transferable vote. This
implies that

(a) elected MPs and MLAs of States have different number of votes

(b) all MPs and MLAs of States have one vote each

(c) all MPs and MLAs of States have equal number of votes

(d) MPs of the Lok Sabha have equal number of votes

IR BT IR A 9 9efd & oguR vee dwmavia 7d g1 faffaa @rar 2| gar ffzaed
2 &

(a) Fraifaa S9e 9ell QIR Il @ g™ 91 9eRll & Aal &1 9 == 2l 2 |

(b) 1 F¥E Hewil SR Il & fAg W1 WeRll H ¥ UAP P Ad Uh 2 |

(c) Tl e WeRIl 3R Al & Qg | Al @ Al B R aRIER 2

d) NE T B FAE IeRi B Al B A aR_ER B |

(b)

A particle is moving freely. Then its

(a) kinetic energy is always greater than zero

(b) potential energy is greater than zero and kinetic energy is less than zero
(c) potential energy is less than zero and kinetic energy is greater than zero
(d) potential energy is zero and kinetic energy is less than zero

BT PV WAFAYIF TAHE B | T4 gHD

(a) ST Sl W9 Y A 1P B

(b) R o1t 3= & &1fda iR TIfaw o1l I | &4 2
(c) Rerfors ot = 9 &4 &Rk faw ot g 9 aifda 2
(d) Rerfast o1t 3= 2 &R Ifast Soff = 4 &4 &

(a)

Kinetic energy is always positive.

The displacement of a particle at time t is given by
X = ai+btj + =tk
ai 1* 5
where a, b and ¢ are positive constants. Then the particle is

(a) accelerated along |A<direction (b) decelerated along |A< direction

(c) decelerated along ] direction (d) accelerated along ] direction

A A C A - .
Wtw%ﬁrwzﬁrﬁwmi=ai+btj+§t2k &1 fen Siran 8, Siel & a, b 3R ¢ g 3R € | q9 B9

(@) k -foem @& argfew @Ra 2 (b) k faen & argfew Afed 2
(©) j farem & srgfre W 2 () j e & s @ha 3
(a)

Xcoordinate =a

ycoordifnate= bt
c
z = —t?
coordinate 2
velocity along x-axis is zero
velocity along y-axis is constant
velocity along z-axis is changing
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149.

Ans.

150.

Ans.

Gravitational force shares a common feature with electromagnetic force. In both cases, the force is

(a) between massive and neutral objects (b) between charged objects
(c) a short range (d) along range
TE@ 90 IR fIgd—gmar 9 § @ IWafTs @ 2 | a1 Raferll 3, 9a
(a) X 3R SeriIF fvel & 9= (b) 3mafdra fovel & 9= 8
(c) BI$ =g IR 2 (d) B1E <" IR B
(d)
The spread in colours in a rainbow on sky is primarily due to
(a) dispersion of sunlight (b) reflection of sunlight
(c) refraction of sunlight (d) total internal reflection of sunlight
HTel H =gy B I Bl Helld &I
(a) -1 &7 fagmor g (b) F—TBIT BT WRIac+ &
(C) GI—THTY BT ST B (d) T &1 goi TIReE IRIad 7
(a)
Resonance
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19 d@ ST9Pl Ig gNIEe YRAd1 T Bl T el 7Y a9 b 7 dlel

LKL (isCal
a.d.#f. : B-MCZ-M-FZS 4o g SIgp
Serial
gierun gRepT
AT AT UsIeTor
g9g : g gue 3k d e qurfa : 600

g

1. TRIE IR B ® JR 919, MY 59 GRIET YRED B gSard 3G IR o f& $9H Bis 91 Bl, Bel
T QeI I Y5 Ieqa] weAre fe 9 g1 A} v g, @ 39 = w’ier gRast 1 95a «iforg |
2. P9 & W fd OMR St™ 99 d I WM ), U TR R gdien gRas dkis s A, B, Can
D &, &9 ¥ va fan it g& a1 faafa & WA SR geag F=A 3t e Swilgar ot 71 fasd of
yHR o ga/faanfa o Rafd 4 SwR-wae AR w= e s
3. =9 TIE JRAPT IR A ¥ QU TC PIod H ATIHT 3T
ST foraeT 7 |
weror gRAST R Siv go T o |
4. 9 WiEvr gRA® 3§ 150 U (9) &1 91§ AU Y 2 4F-A IR 4B | 9F-B H g”Ie uwEre fawd
3% 3ot QI W BUT B | TS I H AR YR ([SwR) fau MU 2 | 3H 9 U UG @l g o, foR sy
ITR—TAP IR 3 AT A1 ¢ | AT 3TIDT VAT o b U 4 31 Tog<ik FLl 2, Tl I UGk B 3ifdba
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